24A
1) X+2
X+2
X X+2
2X + 4
X2 + 2X

X2 +4X + 4

2) X+3

X+3
X X+3

3X+9
X2 + 3X
X2 +6X+9

3) X+5

X+ 5
Xx X+ 5

5X + 25
X2 + 5X
X2 + 10X + 25

4) X+2

X+3[X2+5X+6
-(X2 + 3X)

2X +6

-(2X + 6)

0

5) X+ 6 R6

X +5[X2 + 11X + 36

(X2 + 5X)
6X + 36
-(6X + 30)
6

6) X+ 4
X+3|X2+7X+12
-(X2 + 3X)
4X + 12
-(4X + 12)
0

7)

8)

9)

Check
X+ 2
X X+ 3

3X +6

10
X2 + 2X )

X2 + 5X + 6

Continue to check by
multiplying.

11)

X+ 2
X+8|X2+10X+16
(X2 + 8X)
2X + 16
-(2X + 16)

0

X+ 7
X+3[X2+10X + 21
X2+ 3X)
7X + 21
-(7X + 21)

0

2X +1
X+3|2X2+7X+3
-(2X2 + 6X)
X+3
_X+3)
0

X2+ 5X+ 7
X +4[X3+09X2 +27X + 28
-(X3 + 4X2)
5X2 + 27X
-(5X2 + 20X)
7X + 28
-(7X + 28)
0

X2+ 3X+9
X+1[X8+4X2+12X +9
-(X3+ X?)
3X2 + 12X
-(3X2 + 3X)
9X +9
-(9X +9)
0

24B

1) X+6

X+ 6
X X+ 6

6X + 36
X2 + 6X
X2 + 12X + 36

2) X+7

X+ 7
X X+7

7X + 49
X2 +7X
X2 4+ 14X + 49

3) 2X+1

2X +1
x 2X+1

2X + 1
4X2 + 2X

4X2 + 4X + 1

4) X+ 7

X+3|X2+10X+21
(X2 + 3X)

7X + 21

-(7X + 21)

0

5) X+ 5

X+2|X2+7X+1O
(X2 + 2X)
5X + 10

-(5X + 10)

0

6) X+6

X+1[X2+7X+6
-(X2 + X)

6X + 6

-(6X + 6)

0

Continue to check by

7)

8)

10)

1)

X+ 5
X+3[x2+8X+15
(X2 + 3X)
5X + 15
-(5X + 15)

0

X+ 5

X+4|X2+9X+20
(X2 + 4X)

5X + 20
-(5X + 20)
0

X+3
X-2[X2+ X-6
-!X2-2X!
3X-6
-(3X - 6)

X2 - 3X+ 5
X-2]|X3-5X2+11X-10
-(X3 - 2X2)
3X2 + 11X
-(-3X2 + 6X)
5X - 10
-(5X - 10)
0

X2+ 4X - 7 R5
X-3|X3+ X2- 19X +26
-(X3 - 3X2)

4X2 - 19X
-(4X2 - 12X)

X + 26

-(-7X + 21)

5
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24C

1 4X+6 R -5
X+1[4X2 +10X + 1
(4X2 + 4X)

6X + 1
-(BX + 6)

-5

2) 4X +6
x X+1

4X + 6
4X2 + 6X
4X2 + 10X + 6
- S5
4X2 + 10X + 1

3) 2X+2 R 3
2X +1]4X2 + 6X+5
-(4X2 + 2X)
4X +5
-(4X + 2)

3

4) 2X +2
X 2X+1

2X + 2
4X2 + 4X

4X2 + 86X + 2
+3

4X2 + 86X + 5

5) X+ 5
X+4]X2+9X +20
-(X2 + 4X)
5X + 20
-(5X + 20)

0

6) X+ 4
x X+ 5

5X + 20
X2 + 4X
X2 +9X + 20

7)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

X+1

X+ 1
x X+ 1

X+1
X2 + X

X2 +2X +1

X12y12y2 = x12y14

A5+3 = A8
X5-2-(-4) = X7
2X 3>7*+ _4
Y YR XY~
Y
2X _8X 4 _ X, 4
Y Y Txv T Ty txv &
4-X2 (Using common
XY denominator to add)
.04914
3600
63
1-31 =3
7X2 +2X + 1
2X2 - 17
1,97

addition, multiplication

24D
1) 2X - 3 R 13 7) X+4
X+1]2X2 - X+10
-(2X2 + 2X)
(-.2;(( 4: 1% 8) X+ 4
i By x X+ 4
13 aX+16
X2 4+ 4X
X2 +8X + 16
2) 2X- 3
x X+1
2X- 3
oX2 - 3X 9) ABG(2B(-2BG)I(-2A4 =
m A-10B-14B-6A4 = A-63-20
+13
2X2 - X+10
10) B4A-1B2 = A-1B6
3) 3X +2
X+3I3X2+11X+6 11) .879
-(3X2 + 9X)
2X+6
-(2X + 6) 12) 50
0
13) -16
4 3X+2
X X+3
9X +6 14) 131 =3
3X2 4+ 2X
3X2 + 11X +6
15) 5X2 +7X+5
5) 3X-2 R -
X+4[3X2+10X-9
-(3X2 + 12X) 16) 2X2 +3X -1
-2X -9
-(-2X - 8)
- 1 17) 2x2x2x3x3x3
6) 3X- 2 18) addition and multiplication
X X+4
12X - 8
3X2- 2X 19) 24 +6 =4 hours
3X2 +10X- 8
-1
3X2 +10X - 9 20) 24 +3=8hours

ave - Ove suounjos



24E

1) X+4
2X+2]12X2 + 10X +8
-@2X2 + 2X)
8X +8
-(8X + 8)
0
2) 2X + 2
X X+4
8X +8
2X2 + 2X
2X2 + 10X + 8
3) 3X-2
X+4|3X2+10X-8
-!3X2+12X
-2X -8
-(-2X - 8)
0
4 3X- 2
X X+4
12X - 8
3X2 - 2X
3X2 +10X - 8
5) 2X+4 R 3
2X-5|4X2- 2X -17
-(4X2 - 10X)
8X - 17
~(8X - 20)
3
6) 2X - 5
X 2X+ 4
8X - 20
4X2 - 10X
4X2 - 2X - 20
+3
4X2-2X -17

10)

11)

12)

13)

14)

17)

18)

19)

20)

X+3

X+3

x X+3

3X+9
X2 + 38X

X2 +6X+9

(22)° = 26

X4-8Y-2:3X-8y-5x1 = X10y-11
(10)4 = (101)4

3A3B3 + 6A4B3 - 7ASB3 =
6A%B3 - 4A3B3

1.725

7,000
3X2 + 5X - 16
X2 +6X +4
2x2x3x‘11
2X
18+9=2hours’

18 + 3 =6 hours

25A

1)

14)

15)

16)

(X-2)(X+2) X+2
x X-2
22X - 4
X2 + 2X
X2 - 4
(X - 4)(X +4) X+ 4
x X- 4
-4X - 16
X2 4+ 4X
X2 - 16
(X-5)(X +5) Continue to check by
multiplying.
(Y-12)(Y +12)

(X - 10)(X + 10)
(X -9)(X +9)
X-7)X+7)

(X - 8)(X +8)

(A-11)A+11)

X-Y)YX +Y)
(B-2)(B +2)
(X -3)(X +3)

65

65

4225

35

35

1225

48
42

2016

85

85

7225

25B

9)
10)
11)
12)

13)

14)

15)

16)

(X-1)(X+1) X+1
x X-1
X- 1
X2 + X
X2 -
(X - 6)(X +8) X+ 6
x X- 6
-6X - 36
X2 + 6X
X2 - 36

(Y - 4)(Y +4) Continue to check by
multiplying.

(A-B)A+B)
(A-7)A+7)
(B-5)(B +5)
(Y - X)(Y + X)
(X-2)(X +2)

(A-12)(A+12)

4(X2 - Y2) = 4(X - Y)(X + Y)

(B -8)(B +8)
(X-9)(X+9)

57

53

3021

75

75

5625

35

35

1225

96
94

9024
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Kuta Software - Infinite Algebra 1
Dividing Polynomials
Divide.

D (m*=7m-11)+(m-3)

m+1-—
m-—38

3) (n® +10n+18) = (n+5)

7
n+5

n+5-

5 W =3n-21)+(n-7)

n+4+
n—"7

7) (r* + 14r +38) = (r+ 8)

9) (2x* —17x—38)+(2x+3)

8
2x+ 3

x—10-

Name

Date Period

2) (WP =n-=29)=(n-26)

n+5+
n—=~6

4) (k* =7k +10) = (k—1)

k—6+

6) (a*-28)+(a—75)

a+5-—

8) (X +5x+3)=(x+6)

x—1+

10) (42x* =33) = (7x+7)

6x—6+

Tx+7



11) (x2=74)+(x-18)
10

x—28

x+8—

13) (n*+7n® +14n+3) = (n+2)

n* +5n+4-
n+2

15 (V¥ =22 —14v-5) = (v+3)

2 —5p+1-—
v+ 3

17) (k* — 30k — 18 — 4k?) = (3 + k)

kK> —7k-9+

3+k

19) (3 +5x2=32x-7) + (x—4)

X+ 9x+4+
x—4

12) 2p*+7p-39)+(2p-7)
10
2p—=17

p+7+

14) (p> -10p> +20p +26) = (p-5)

2
-5p-5+
p"=3p P

16) (x> = 13x* +40x+18) = (x=7)

X —6x—2+

x—17

18) (=5k* + k> + 8k +4) = (-1 + k)

k> — 4k + 4 +
—-1+k

20) (50k° + 10k* — 35k —7) + (5k—4)

3
10> +10k+1 - ———
5k—4

Create your own worksheets like this one with Infinite Algebra 1. Free trial available at KutaSoftware.com




